Challenge Problem

A mixture contains only NaCl and Fe(NO3)3. A 0.456 gram
sample of the mixture is dissolved in water and an excess
of NaOH is added, producing a precipitate of F e(OH)3. The
precipitate is filtered, dried and weighed. Its mass is
0.107 grams. Calculate the following:

a. The mass of iron in the sample

b. The mass of Fe(NO3)3 in the sample

¢. The mass percent of Fe(NO3)s3 in the

sample
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What c{o you need to do to solve the problem? (br; it down into parts)
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Set up: (Do the work from 1-B)
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Answer the question: (Use the info from above to solve the problem)

Does your answer make sense? -




